QUESTION 2008
Group — A : .
3 (Multiple Choice Type Q’ues&mn} 2
o 1 Chose the correct altermnatives for the following: ~
) A 3-bit synchrenous counter uses flip-flops with pmpagalxon de!ay hme of 20 ns eaohx The
maximum possibie time reguired for change of state will be _ _ ;
— a)GUHS - b)40ns fc).?ﬂns" : R d)noa,e.oflﬁese

5 'ﬁ) BCD subtraction is performed by using which comp!emsm reptesentahon'? s
iAEe) 1S b 2s - . o)10s : vd)9's

1 '»"') '"'le SOP form of logical expression is most suitable for designing logic circuits using only
' a) XORgates ' b)NORgates’ ¥ c) NADGates d) OR gates

v iv). The dual of a Boolean function is oblained by 69

i .- a} interchanging alf 0s and 1s only
L b) changing s fo 1s oniy

¢)changing tstoOsofly
R d) interchanging all 0s and Is and “+ and ‘. > signs

v) When represeniing in the fo!!owmg code the consecutive decimal number differ only in one bit
' a) Excess -3 ¥'b) Gray €)BCD | d) Hexadecimal

' m“j in a J-K fiip -flop when J = 1 and K =1 and clock =1 ﬁe oufput wzll be - iy
e a} toggle b} 1. S c)0 d) recalls prevmus outpm a5

~-jm) ( AB -LA’B +AB) s eqaai to

a) A+B' | '/b)A.+B S oy KB PR
,_“)z'samnpzmtonmmm S b iR M e R S el
-f’a}omwn . potioie cj1i00000 - d)1000001. . -
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'POPULAR PUBLICATIONS

f d)'au oﬂmse

ix)ﬂie‘basic fuse technobgies usr;d in PROM are A
a)metallinks ~ b) silicon tinks c) o luncﬂoﬂs

~ x)Ingeneral; a boolean expressicn of {n+1) variable can be .mplemented using a multiplexer with
va)2™linputs . b)2”" inputs © ¢)2"inputs 6) None of thesq
Group - B

‘ {Short Answer Type Questions) | | . : — o
2. Draw the neat diagram of 3- bits Bi-di reclional Shift Register usung modaj controf {¥4). When M g :-._."'?‘.:
logic zero then left shift and right shift for M is logic one. o
Ser Topic: RESISTER & COUNT KR, Long Answer Type Question No. 6.

g basic logic gates with proper truth

Long Answer Type Question Im 8.
FIF. Why is J- K F/F much more versatile that 5.

{able.

3. Dasign 2-bit Gray-Binary converler usin
Sce Topic: CO\[BINATIO‘ML CIRCUIT,

4. Draw the logic diagram and truth table of - K

R F/F?
See Topic: FLIP-FLOP, Long Answer Type Question No. 10. e(

5. What is a full subtractor? Expiain iis basic stru r logic diagrams & puth table.
pe Quesﬁnn No. 3.

. See Topic: ARITHMATIC CIRCUIT. LMQ h 3
3,5,6)bya mumplexer Discuss the operation logic.

k 6. Realize the function f(A, B, C) =X m (1
" See Topic: LOGIC GATES, Short Answer Type Question No. 4.

By ' :
¥ , ‘ ‘ Group-C

- {Long Answer Type Questions)
. 7.a)Using K-map method minirnize the following expression:
 F(w.x,y,2)=mZX(1,5,6,12,13, 14) +d Z (2, 4).

b) Implement Ex-OR gate using NAND Gate and NAND gate using NOR gate.

e - a) See Topic: KARNAUGH MAP, Short Answer Type Question No. 6.
. b) See Topic: LOGIC GATES, Shurt Answer Type Question ! No.4.

-~ 8. a) Design and implement Mcd-6 synchronous counter oonsndermg iock out prob!em ls the

" counter self-starhng"

2 ;)a Explain the dtfference between Ring and Johnson Counter with proper state diagram and circuit:

; gram. :
: ‘See Topic: RESISTER & COUNTER, Long Answer Type Question No. ‘7.

9. a) Explain the concept of parity checking.
- b) Discuss about the design of an odd parity generator.
. a) See Topic: COMBINATIONAL CIRCUIT, Long Answer Type Question No. 8(a).
b) See Topic: COMBINATIONAL CIRCUIT, Lo
ng Answer Type Questmn No. 4.
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DIGITAL FL!’M(WECS

- -w Whatdo you mean by race condifion in flip- flop? Design a j -k Hip - ﬁcp and dzscuss tfs
. operation. Design and explain the functioning of the 4-bit adder-sublracior circuit.
* See Topic: FLIP-FLOP, Long Answer Type Question Ne. 11,

. See Topic: AmﬂmA} HC CIRCUTY, Short Answer Type Question No. 2.

b} Decoder

¢) Shift Begister ‘ aQ

";,11 Write shorl notes cn any three of the following: \§
. a) Universal gates ‘ aQe

-dj Fiip -flop excitation tabie
&) ) Ripple counter
- 'a) See Topic: LOGIC GATES, Leny Answer Type Quesiion Ne. 4(b).
-b) See Topic: COMBIMATIONAL CIRCUTT, Long Answer Type Question Ne. 145},
4 vc} See Topic: RESISTER & COUNTER. Long Answer Tyvpe Question No. 18{a).
 d) See Topic: FLIP-FLOP, Long Answer Type Question Ne. 13(=x).
) Sce Topic: RESISTER & COUNTER, Loog Answer Type Question Ne. 19{e).
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